

February 18, 2021

VIA RESS

Ontario Energy Board P.O. Box 2319 2300 Yonge Street, 27th Floor Toronto, ON M4P 1E4 Attention: Registrar

Dear Ms. Long:

Re: Niagara Peninsula Energy Inc. (NPEI) 2021 Cost of Service Rates Application

Board File No.: EB-2020-0040

We are counsel to the Distributed Resource Coalition (**DRC**) in the above-noted proceeding (the **Proceeding**). Further to the Board's Decision and Order dated February 4, 2021, please find enclosed DRC's cost claim in respect of the Proceeding. DRC notes that it has included two completed 'Detail of Fees and Disbursements Being Claimed' forms for Daniel Vollmer in this cost claim at two different hourly rates. By way of context, DRC notes that Dr. Vollmer was called to the bar on November 27, 2020. A copy of Dr. Vollmer's CV is attached to the cost claim.

DRC respectfully requests an award of 100% of its eligible costs, given its strategic and principled participation in the Proceeding, reflecting the unique interests of otherwise unrepresented NPEI customers. DRC submits that this request is supported by the following considerations:

- (a) DRC participated effectively in the Proceeding, taking a surgical, principled, and coordinated approach to matters related to the integration of distributed energy resources (DERs) and assisted in contributing to the Board's better understanding of such matters;
- (b) DRC ensured that its participation in the Proceeding was focused on material issues and consistent with the scope of its intervention, as set out in its Notice of Intervention;
- (c) DRC has ensured that it has not requested recovery of costs associated with the attendance of more than one representative at the settlement conference; and
- (d) DRC participated responsibly and undertook coordination with other intervenors and Board Staff to avoid overlap, maximize efficiency, and ensure that its participation was not unduly repetitive and was focused on relevant and material issues.

We trust that this approach maximizes the efficient use of resources and the right of otherwise unrepresented and important NPEI customers to be heard in a manner that is consistent with the Board's mandate and statutory objectives.

DRC respectfully requests a full award of eligible costs.

Sincerely,

Jonathan McGillivray

c. Scott Stoll, Counsel, Aird and Berlis LLP
Paul Blythin, Niagara Peninsula Energy Inc.
Cara Clairman, Plug'n Drive
Wilf Steimle, Electric Vehicle Society

Encl.



Affidavit and Summary of Fees and Disbursements

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required (yellow-shaded) fields are filled in and the Affidavit portion is signed and sworn or affirmed

affirmed.						
		ı	nstructions			
- All claims mu - A separate " Disbursement However, only - The cost claim	ust be in Canadian do Detail of Fees and D is Being Claimed") is one "Summary of I m must be supporte n consultant/analyst	oy yellow-shaded fields. Formulas bllars. If applicable, state exchang Rate: Isbursements Being Claimed" (cor required for each lawyer, analyst, Fees and Disbursements" covering d by a completed Affidavit signed must be attached unless provide	mprising a "Statement of Fee /consultant and articling stud g the whole of the party's cos by a representative of the pa d to the Board as prescribed of	currency. Country: s Being Claimed" and a "Stater ent/paralegal. t claim should be provided. arty. on the Cost Award Tariff.		
File # EB-	EB-2020-0040		Process: Niagara Peni	nsula Energy Inc. Rate App	lication	
Party:	Distributed Reso	ource Coalition		Jonathan McGillivray		
HST Number	r: 79471349	5 RT0001	HS ⁻	T Rate Ontario: 13.00%		
	F	Full Registrant Unregistered Other	Qualifying Non-Profit Tax Exempt			
			Affidavit			
l,	Jonat	than McGillivray	, of the City/Town of	Toronto		
in the Provi	nce/State of	Ontario		, swear or affirm that:		
2. I have example of the attached and the attached to about 4 This cost class.	nined all of the docu etement(s) of Fees P ed "Summary of Fee I" include only costs ove aim does not include	ove-noted party (the "Party") and mentation in support of this cost of	claim, including the attached " of Dishursements Reing Clair ed", "Statement(s) of Fees Be or the purposes of the Party's spent, by a person that is an e	"Summary of Fees and Disburs med" eing Claimed" and "Statement participation in the Ontario En	(s) of Disbursements ergy Board process	
Signature o	f Affiant					
		ne at the City/Town of	Tor	ronto	,	
	nce/State of	Ontario	, on	February 18, 2021	<u>.</u>	
1 Did		ce with O. Reg. 431/20: Admini	stering Oath or Declaration	n Remotely ^(date)		
Commissio	ner for taking Af	ffidavits				

Process: Niagara Peninsula Energy Inc. Rate Application

File # EB-

EB-2020-0040



Affidavit and Summary of Fees and Disbursements

Party: Distributed Resource Coalition

Summary of Fees and Disbursements Being Claimed							
Legal/consultant/other fees	\$	7,774.00					
Disbursements	\$	-					
HST	\$	1,010.62					
Total Cost Claim	\$	8,784.62					

Payment Information

Make cheque payable to: Resilient LLP

Send payment to this address: Bay Adelaide Centre

333 Bay Street, Suite 625

Toronto, ON M5R 2R2



Detail of Fees and Disbursements Being Claimed

File # EB-	EB-2020-0040		Process: Niagara Penins	sula Energy Inc. Rate Application
Party:	Distributed Resource Coalition		Service Provider Name:	Lisa DeMarco
	SERVICE PROVIDER TYPE	(check one)	Year Called to Bar	Completed Years Practising/Years of Relevant Experience
	Legal Counsel Articling Student/Paralegal Consultant		1997	Hourly Rate: \$330
	Analyst For Consultant/Analyst:	CV attach	ned HST Rate (ded within previous 24 months	Charged (<i>enter</i> %): 13.0%

Statement of Fees Being Claimed									
	Hours	Hourly Rate Subtotal			HST		Total		
Pre-hearing Conference			•						
Preparation		\$	330.00	\$	-	\$	-	\$	-
Attendance		\$	330.00	\$	-	\$	-	\$	-
Technical Conference									
Preparation		\$	330.00	\$	=	\$	=	\$	-
Attendance		\$	330.00	\$	=	\$	-	\$	-
Interrogatories									
Preparation		\$	330.00	\$	=	\$	=	\$	-
Responses		\$	330.00	\$	=	\$	=	\$	-
Issues Conference									
Preparation	1.40	\$	330.00	\$	462.00	\$	60.06	\$	522.06
Attendance		\$	330.00	\$	-	\$	-	\$	-
ADR - Settlement Conference									
Preparation	0.20	\$	330.00	\$	66.00	\$	8.58	\$	74.58
Attendance		\$	330.00	\$	-	\$	-	\$	-
Proposal Preparation	1.20	\$	330.00	\$	396.00	\$	51.48	\$	447.48
Argument									
Preparation	0.50	\$	330.00	\$	165.00	\$	21.45	\$	186.45
Oral Hearing									
Preparation		\$	330.00	\$	-	\$	-	\$	-
Attendance		\$	330.00	\$	-	\$	-	\$	-
Other Conferences									
Preparation		\$	330.00	\$	-	\$	-	\$	-
Attendance		\$	330.00	\$	-	\$	-	\$	-
Case Management				\$	-	\$	-	\$	-
TOTAL SERVICE PROVIDER FEES				\$	1,089.00	\$	141.57	\$	1,230.57

File # EB- EB-2020-0040 Process: Niagara Peninsula Energy Inc. Rate Application



Detail of Fees and Disbursements Being Claimed

arty:	Distributed Resource Coalition	Service Provider Name:	Lisa DeMarco	

Statement of Disbursements Being Claimed							
		Net Cost	HST	Total			
Scanning/Photocopy	1		\$ -	\$ -			
Printing			\$ -	\$ -			
Courier			\$ -	\$ -			
Telephone/Fax			\$ -	\$ -			
Transcripts			\$ -	\$ -			
Travel: Air			\$ -	\$ -			
Travel: Car			\$ -	\$ -			
Travel: Rail			\$ -	\$ -			
Travel (Other):			\$ -	\$ -			
Parking			\$ -	\$ -			
Taxi			\$ -	\$ -			
Accommodation			\$ -	\$ -			
Meals			\$ -	\$ -			
Other:			\$ -	\$ -			
Other:			\$ -	\$ -			
Other:			\$ -	\$ -			
TOTAL DISBURSEMEN	NTS:	\$ -	\$ -	\$ -			



Detail of Fees and Disbursements Being Claimed

File # EB-	EB-2020-0040		Process:	Niagara Penins	sula Energy Inc. Rate Appl	ication
Party:	Distributed Resource Coalition		Service F	Provider Name:	Jonathan McGillivray	
	SERVICE PROVIDER TYPE	(check one)	Year Called to Bar		Completed Years Practising/of Relevant Experience	
	Legal Counsel	[. _/]	2017		4	
	Articling Student/Paralegal				<u></u>	
	Consultant				Hourly Rate: \$170)
	Analyst	L				
	For Consultant/Analyst:	CV attach	ied	HST Rate (Charged (enter %): 13.09	%
		·/ CV provio	ded within previous	24 months		-

Statement of Fees Being Claimed									
	Hours		urly Rate		Subtotal	HST		Total	
Pre-hearing Conference			<u> </u>						
Preparation		\$	170.00	\$	-	\$	_	\$	-
Attendance		\$	170.00	\$	-	\$	-	\$	=
Technical Conference									
Preparation		\$	170.00	\$	=	\$	=	\$	-
Attendance		\$	170.00	\$	-	\$	-	\$	-
Interrogatories									
Preparation	3.80	\$	170.00	\$	646.00	\$	83.98	\$	729.98
Responses		\$	170.00	\$	-	\$	-	\$	-
Issues Conference									
Preparation	1.30	\$	170.00	\$	221.00	\$	28.73	\$	249.73
Attendance		\$	170.00	\$	-	\$	-	\$	-
ADR - Settlement Conference									
Preparation	8.00	\$	170.00	\$	1,360.00	\$	176.80	\$	1,536.80
Attendance	17.60	\$	170.00	\$	2,992.00	\$	388.96	\$	3,380.96
Proposal Preparation	4.70	\$	170.00	\$	799.00	\$	103.87	\$	902.87
Argument									
Preparation		\$	170.00	\$	-	\$	-	\$	-
Oral Hearing									
Preparation		\$	170.00	\$	=	\$	=	\$	-
Attendance		\$	170.00	\$	-	\$	-	\$	-
Other Conferences									
Preparation		\$	170.00	\$	=	\$	-	\$	-
Attendance		\$	170.00	\$	-	\$	-	\$	-
Case Management	1.30	\$	170.00	\$	221.00	\$	28.73	\$	249.73
TOTAL SERVICE PROVIDER FEES				\$	6,239.00	\$	811.07	\$	7,050.07

File # EB- EB-2020-0040 Process: Niagara Peninsula Energy Inc. Rate Application



Detail of Fees and Disbursements Being Claimed

Party: <u>Distributed Resource Coalition</u> Service Provider Name: <u>Jonathan McGillivray</u>

Statement of Disbursements Being Claimed							
	Net Cost	HST	Total				
Scanning/Photocopy		\$ -	\$ -				
Printing		\$ -	\$ -				
Courier		\$ -	\$ -				
Telephone/Fax		\$ -	\$ -				
Transcripts		\$ -	\$ -				
Travel: Air		\$ -	\$ -				
Travel: Car		\$ -	\$ -				
Travel: Rail		\$ -	\$ -				
Travel (Other):		\$ -	\$ -				
Parking		\$ -	\$ -				
Тахі		\$ -	\$ -				
Accommodation		\$ -	\$ -				
Meals		\$ -	\$ -				
Other:		\$ -	\$ -				
Other:		\$ -	\$ -				
Other:		\$ -	\$ -				
TOTAL DISBURSEMENTS:	\$ -	\$ -	\$ -				



Detail of Fees and Disbursements Being Claimed

File # EB-	EB-2020-0040		Process: Niagara	Peninsula Energy Inc. R	ate Application
Party:	Distributed Resource Coalition		Service Provider N	lame: Daniel Vollmer	
	SERVICE PROVIDER TYPE Legal Counsel	(check one)	Year Called to Bar	Completed Years F of Relevant E 1	.
	Articling Student/Paralegal Consultant Analyst			Hourly Rate:	\$100
	For Consultant/Analyst:	CV attach	ned HS ded within previous 24 months	T Rate Charged (enter %):	13.0%

	·/ CV provid	ded w	vithin previous	s 24 m	nontns		
9	Statement o	of Fe	ees Being	Clain	ned		
	Hours	Но	urly Rate	S	ubtotal	HST	Total
Pre-hearing Conference							
Preparation		\$	100.00	\$	-	\$ -	\$ -
Attendance		\$	100.00	\$	-	\$ -	\$ -
Technical Conference							
Preparation		\$	100.00	\$	-	\$ -	\$ -
Attendance		\$	100.00	\$	-	\$ -	\$ -
Interrogatories							
Preparation	0.80	\$	100.00	\$	80.00	\$ 10.40	\$ 90.40
Responses	0.20	\$	100.00	\$	20.00	\$ 2.60	\$ 22.60
Issues Conference							
Preparation		\$	100.00	\$	-	\$ -	\$ -
Attendance		\$	100.00	\$	-	\$ -	\$ -
ADR - Settlement Conference							
Preparation	0.30	\$	100.00	\$	30.00	\$ 3.90	\$ 33.90
Attendance		\$	100.00	\$	-	\$ -	\$ -
Proposal Preparation		\$	100.00	\$	-	\$ -	\$ -
Argument							
Preparation		\$	100.00	\$	-	\$ -	\$ -
Oral Hearing							
Preparation		\$	100.00	\$	-	\$ -	\$ -
Attendance		\$	100.00	\$	-	\$ -	\$ -
Other Conferences							
Preparation		\$	100.00	\$	-	\$ -	\$ -
Attendance		\$	100.00	\$	-	\$ -	\$ -
Case Management	0.10	\$	100.00	\$	10.00	\$ 1.30	\$ 11.30
TOTAL SERVICE PROVIDER FEES				\$	140.00	\$ 18.20	\$ 158.20



Detail of Fees and Disbursements Being Claimed

	ile # EB-	EB-2020-0040	Process:	Niagara Peninsula Energy Inc. Rate Application
--	-----------	--------------	----------	--

Party: Distributed Resource Coalition Service Provider Name: Daniel Vollmer

	Statement of I	Disbursements Being Claim	ed	
		Net Cost	HST	Total
Scanning/Photocopy	1		\$ -	\$ -
Printing			\$ -	\$ -
Courier		\$	- \$ -	\$ -
Telephone/Fax			\$ -	\$ -
Transcripts			\$ -	\$ -
Travel: Air			\$ -	\$ -
Travel: Car			\$ -	\$ -
Travel: Rail			\$ -	\$ -
Travel (Other):			\$ -	\$ -
Parking			\$ -	\$ -
Taxi			\$ -	\$ -
Accommodation			\$ -	\$ -
Meals			\$ -	\$ -
Other:			\$ -	\$ -
Other:			\$ -	\$ -
Other:			\$ -	\$ -
TOTAL DISBURSEMEN	ITS:	\$	- \$ -	\$ -



Detail of Fees and Disbursements Being Claimed

File # EB-	EB-2020-0040		Process: Niagara Penins	sula Energy Inc. Rate Application
Party:	Distributed Resource Coalition		Service Provider Name:	Daniel Vollmer
	SERVICE PROVIDER TYPE	(check one)	Year Called to Bar	Completed Years Practising/Years of Relevant Experience
	Legal Counsel	7	2020	1
	Articling Student/Paralegal Consultant Analyst			Hourly Rate: \$170
	For Consultant/Analyst:	CV attach	ned HST Rate of the ded within previous 24 months	Charged (<i>enter</i> %): 13.0%

Statement of Fees Being Claimed									
	Hours		urly Rate	_	Subtotal	HST			Total
Pre-hearing Conference			<u> </u>						
Preparation		\$	170.00	\$	-	\$	-	\$	-
Attendance		\$	170.00	\$	-	\$	-	\$	=
Technical Conference									
Preparation		\$	170.00	\$	-	\$	-	\$	_
Attendance		\$	170.00	\$	-	\$	-	\$	_
Interrogatories									
Preparation		\$	170.00	\$	-	\$	-	\$	_
Responses		\$	170.00	\$	-	\$	-	\$	_
Issues Conference									
Preparation	0.70	\$	170.00	\$	119.00	\$	15.47	\$	134.47
Attendance		\$	170.00	\$	-	\$	-	\$	-
ADR - Settlement Conference									
Preparation		\$	170.00	\$	-	\$	-	\$	-
Attendance		\$	170.00	\$	-	\$	-	\$	-
Proposal Preparation		\$	170.00	\$	-	\$	-	\$	-
Argument									
Preparation		\$	170.00	\$	-	\$	-	\$	-
Oral Hearing									
Preparation		\$	170.00	\$	-	\$	-	\$	-
Attendance		\$	170.00	\$	-	\$	-	\$	-
Other Conferences									
Preparation		\$	170.00	\$	-	\$	-	\$	-
Attendance		\$	170.00	\$	-	\$	-	\$	-
Case Management	1.10	\$	170.00	\$	187.00	\$	24.31	\$	211.31
TOTAL SERVICE PROVIDER FEES				\$	306.00	\$	39.78	\$	345.78

File # EB- EB-2020-0040 Process: Niagara Peninsula Energy Inc. Rate Application



Detail of Fees and Disbursements Being Claimed

Party:	Distributed Resource Coalition	Service Provider Name:	Daniel Vollmer	

Statement of Disbursements Being Claimed						
		Net Cost	HST	Total		
Scanning/Photocopy	1		\$ -	\$ -		
Printing			\$ -	\$ -		
Courier			\$ -	\$ -		
Telephone/Fax			\$ -	\$ -		
Transcripts			\$ -	\$ -		
Travel: Air			\$ -	\$ -		
Travel: Car			\$ -	\$ -		
Travel: Rail			\$ -	\$ -		
Travel (Other):			\$ -	\$ -		
Parking			\$ -	\$ -		
Taxi			\$ -	\$ -		
Accommodation			\$ -	\$ -		
Meals			\$ -	\$ -		
Other:			\$ -	\$ -		
Other:			\$ -	\$ -		
Other:			\$ -	\$ -		
TOTAL DISBURSEMEN	NTS:	\$ -	\$ -	\$ -		

INVOICE



Invoice # 20177 Date: 12/31/2020 Due On: 02/18/2021

333 Bay Street, Suite 625 Toronto, ON M5H 2R2 Canada Email: monika@resilientllp.com www.resilientllp.com

Distributed Resource Coalition

20-00684-Distributed Resource Coalition-EB-2020-0040 Niagara Peninsula Energy Inc. Rate Application

Date	Attorney	Description	Hours	Rate	Total
10/13/2020	JM	CMT - Review PO1 and instructions to D. Vollmer re same;	0.20	\$170.00	\$34.00
10/13/2020	LD	APR - Instructions to J. McGillivray and D. Vollmer re approach and key elements of application; communications with client; Feedback to J. McGillivray and D. Vollmer to implement;	0.50	\$330.00	\$165.00
10/29/2020	JM	IRP - Draft and revise interrogatories;	3.80	\$170.00	\$646.00
10/30/2020	DV	IRP - Prepare IRs and file per J. McGillivray;	0.80	\$100.00	\$80.00
11/02/2020	DV	CMT - upload IR files and confirmation email;	0.10	\$100.00	\$10.00
11/23/2020	DV	IRR - Review IRRs per J. McGillivray;	0.20	\$100.00	\$20.00
11/26/2020	DV	SCP - Review IRRs per J. McGillivray;	0.30	\$100.00	\$30.00
11/26/2020	JM	ICP - Comment on draft Issues List as per L. DeMarco;	0.30	\$170.00	\$51.00
11/26/2020	LD	ICP - Instructions to J. McGillivray on draft issues list;	0.20	\$330.00	\$66.00
12/04/2020	DV	CMT - upload application and evidence documents and prepare file per J. McGillivray;	0.30	\$170.00	\$51.00
12/04/2020	DV	CMT - prepare declarations and undertakings for LD, JM, DV per J. McGillivray;	0.20	\$170.00	\$34.00
12/07/2020	DV	CMT - File declarations and undertaking per J. McGillivray;	0.50	\$170.00	\$85.00
12/07/2020	JM	SCP - Prepare for settlement conference;	3.30	\$170.00	\$561.00

12/07/2020	LD	SCP - Instructions to J. McGillivray re settlement conference and how to proceed;	0.20	\$330.00	\$66.00
12/08/2020	DV	CMT - prepare file re confidential filing;	0.10	\$170.00	\$17.00
12/08/2020	JM	SCP - Prepare for settlement conference;	4.70	\$170.00	\$799.00
12/09/2020	DV	ICP - Review OEB decision on issues list per J. McGillivray; Prepare clarification letter re issues list per J. McGillivray; Email J. McGillivray for clarification re decision on issues list;	0.50	\$170.00	\$85.00
12/09/2020	JM	SCA - Attend on settlement conference (Day 1);	7.00	\$170.00	\$1,190.00
12/09/2020	LD	ICP - Call with and instructions to J. McGillivray on key elements and strategy; Instructions to J. McGillivray on getting clarification on Board's December 4th procedural direction; Communications with M. Rubenstein re prior email and approach;	0.90	\$330.00	\$297.00
12/10/2020	DV	ICP - File letter re Issues List per J. McGillivray;	0.20	\$170.00	\$34.00
12/10/2020	JM	SCA - Attend on settlement conference (Day 2);	4.30	\$170.00	\$731.00
12/10/2020	LD	ICP - Review draft letter seeking clarification on Decisions on Issues List; Instructions to J. McGillivray re same;	0.30	\$330.00	\$99.00
12/10/2020	JM	ICP - Draft clarification letter re issues list per L. DeMarco;	0.70	\$170.00	\$119.00
12/10/2020	JM	ICP - Revisions to letter seeking clarification on Decisions as per L. DeMarco;	0.30	\$170.00	\$51.00
12/11/2020	JM	SCA - Attend on settlement conference (Day 3);	6.30	\$170.00	\$1,071.00
12/30/2020	JM	SPP - Review and revise draft settlement proposal from NPEI, communications with other parties re same;	2.30	\$170.00	\$391.00
12/30/2020	LD	SPP - Review settlement proposal; Instructions to J. McGillivray re same;	0.30	\$330.00	\$99.00

Quantity Subtotal 38.8

Time Keeper	Hours	Rate	Total
Lisa DeMarco	2.4	\$330.00	\$792.00
Jonathan McGillivray	33.2	\$170.00	\$5,644.00
Daniel Vollmer	1.8	\$170.00	\$306.00
Daniel Vollmer	1.4	\$100.00	\$140.00

Quantity Total 38.8
Subtotal \$6,882.00

Total \$7,776.66

\$894.66

Please make all amounts payable to: Resilient LLP HST #79471 3495 RT0001

If sending a wire, please ensure that you include sufficient funds to cover both sending and receiving wire fees charged by financial institutions. Receiving wire fees for our bank are currently \$17.50.

Please pay within 49 days.

INVOICE



Invoice # 21103 Date: 02/16/2021 Due On: 03/18/2021

333 Bay Street, Suite 625 Toronto, ON M5H 2R2 Canada Email: monika@resilientllp.com www.resilientllp.com

Distributed Resource Coalition

20-00684-Distributed Resource Coalition-EB-2020-0040 Niagara Peninsula Energy Inc. Rate Application

Date	Attorney	Description	Hours	Rate	Total
01/05/2021	JM	SPP - Review and revise draft settlement proposal (version 2) from NPEI, instructions with respect to negotiations and communications with other parties re same; Attend on teleconference re effective date issue;	1.80	\$170.00	\$306.00
01/05/2021	LD	SPP - Review draft Settlement Proposal (version 2) from NPEI; Instructions to J. McGillivray re same;	0.40	\$330.00	\$132.00
01/07/2021	JM	SPP - Discussed final review with L. DeMarco; Email correspondence re sign-off;	0.40	\$170.00	\$68.00
01/07/2021	LD	SPP - Final review of draft Settlement Proposal;	0.50	\$330.00	\$165.00
01/15/2021	JM	SPP - Review Board staff submission on Settlement Proposal;	0.20	\$170.00	\$34.00
01/25/2021	JM	CMT - Review and consider issues around confidential treatment of certain documents further to Procedural Order No. 2, email correspondence concerning same with M. Rubenstein and S. Stoll;	0.70	\$170.00	\$119.00
02/04/2021	JM	CMT - Review Decision and Rate Order;	0.40	\$170.00	\$68.00

Quantity Subtotal 4.4

Time Keeper	Hours	Rate	Total
Lisa DeMarco	0.9	\$330.00	\$297.00
Jonathan McGillivray	3.5	\$170.00	\$595.00

Quantity Total 4.4

Subtotal \$892.00

HST (ON) (13.0%) \$115.96

Total \$1,007.96

Please make all amounts payable to: Resilient LLP HST #79471 3495 RT0001

If sending a wire, please ensure that you include sufficient funds to cover both sending and receiving wire fees charged by financial institutions. Receiving wire fees for our bank are currently \$17.50.

Please pay within 30 days.

DANIEL VOLLMER

+1.647.993.6338 | DANIEL@RESILIENTLLP.COM

EDUCATION	Call to the Ontario Bar	December 2020
	Stellenbosch University, Doctor of Laws, Public International Law	2017
	 Stellenbosch University, Bachelor of Laws Advanced Public International Law Distinction 	2013
	University of Denver, Bachelor of Arts, International StudiesHornbeck Scholar	2010

LEGAL WORK Resilient LLP

Associate

Toronto, ON 2021-Present

- Assisted in advising businesses, NGOs and First Nations on energy and climate change law and policy
- Assisted counsel to various regulated entities, businesses, First Nations groups and industry associations before the Ontario Energy Board
- Assisted in advising various businesses on corporate finance, securities law compliance and corporate governance matters

Resilient LLP (formerly DeMarco Allan LLP) Articling Student	Toronto, ON 2020 – 2021
International Bar Association Independent Legal Expert	London, UK 2019 – 2020

- Conducted research into criminalisation of sexual orientation in different national jurisdictions
- Advised on laws most frequently used to target LGBTI+ individuals and review of national and international case law challenging such laws

International Bar Association's Human Rights Institute Legal Intern

London, UK 2019

- Conducted legal research for senior programme lawyer and deputy director on extractive industries, human rights violations, and attacks against the legal profession with focus areas of Africa, Southern Africa, and the United Nations
- Assisted on capacity building and program development for promoting the human rights of people with albinism in partnership with UNICEF and the Norwegian Agency for Development Cooperation
- Drafted memos on relevant human rights cases and legal principles, assisted in the drafting and creation of capacity building programs for the protection and promotion of human rights and the legal profession in Southern Africa

DANIEL VOLLMER

+1.647.993.6338 | DANIEL@RESILIENTLLP.COM

- UK Supreme Court trial observation of *Vedanta Resources Plc and Konkola Copper Mines Plc v Lungowe and Ors* on behalf of IBAHRI
- Drafted intervention letters, press releases, and open letters on behalf of the IBAHRI regarding human rights violations, state obligations under international and domestic law, and attacks against the legal profession in Zimbabwe, Sudan, Turkey, China, Nigeria, Iran, and the Democratic Republic of Congo
- Conducted research and created database for lawyers at risk toolkit and training manual
- Attended events hosted by the Law Society of England and Wales regarding equality, diversity, and LGBTQ issues within the legal profession

Fasken Martineau DuMoulin LLP Winter Law Student

Johannesburg, South Africa 2013

- Presented report on application of administrative law principles, jurisprudence, and statutes regarding mineral resource extraction legislation for Mining department
- Drafted documents and compiled research for Finance Project department on allocation of liability in international infrastructure projects
- Completed rotations in Mining Department and Finance Project Department

Stellenbosch University Law Clinic Law Student

Stellenbosch, South Africa 2013

- Assisted Candidate Attorneys
- Drafted various legal documents including: testamentary documents; affidavits; and notice of opposition
- Assisted Candidate Attorney during consultations with clients and preparations for trial
- Drafted legal opinions and conducted research on various property law and family law issues

SELECTED PUBLICATIONS

L. DeMarco, J. McGillivray J. and D. **Vollmer**, (2020) "The New World of Climate Change and ESG Disclosure". Energy Regulation Quarterly (Volume 8, Issue 4)

L. DeMarco and D. Vollmer, (2020) "The Good Fight". IETA 2020 GHG Report

D. **Vollmer**, (2019) "Reflections of an intern: Awaiting landmark decision in UK Supreme Court case on parent company liability". International Bar Association

D. **Vollmer**, (2017) "Queer families: An analysis of non-heteronormative family rights under the African human rights system". Stellenbosch University.

DANIEL VOLLMER

+1.647.993.6338 | DANIEL@RESILIENTLLP.COM

SPEAKING PRESENTATIONS	Speaker, Centre for Trust, Peace and Social Relations Ph.D. Conference, "Queer families: An analysis of non-heteronormative family rights under the African Human Rights System", Coventry University, UK, May, 2017
AWARDS	International Bar Association – Educational Trust Grant
	LexisNexis and Stellenbosch University Faculty of Law – 3 rd Place (individual), 2 nd Place (Team), 2013 Mock Trial Competition
	Bowman Gilfillan – 1st Place, 2012 Criminal Procedure Moot Court
LANGUAGES	French (moderate proficiency) Afrikaans (moderate proficiency) Spanish (elementary proficiency)